HW \0.!

Section 10.1 ~ Boolean Functions 275
;or part (d) we have )
xT Yy z T ] z Tz  ITZ T2+7TZ y(zz+TZ)
1 1 1 0 0 0 1 0 1 0
1 1 0 0 0 1 0 0 0 0
1 0 1 0 1 0 1 0 1 1
1 0 0 0 1 1 0 0 0 0
0 1 1 1 0 0 0 0 0 0
0 1 0 1 0 1 0 1 1 0
0 0 1 1 1 0 0 0 0 0
0 0 0 1 1 1 0 1 1 1

a) Since 00=0 and 140 = 1, this expression simplifies to z.
. b) Since 0®@1=1and 191 = 0, this expression simplifies to 7.
c) Looking at the definition, we see that = @z =0 for all z.
d) This is similar to part (c); this time the expression always equals 1.



